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Note :

This paper is of Thirty Five (35) marks divided into
two (02) Sections A and B. Attempt the questions
contained in these sections according to the detailed
instructions given therein. Candidates should limit their
answer to the questions on the given answer sheet. No
additional (B) answer sheet will be issued.
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SECTION-A/( @US-ah )

(Long Answer Type Questions)/( S ST ot Wg)

Note :

Section 'A' contains Five (05) long answer type
questions of Nine and Half (9%2) marks each. Learners
are required to answer any Two (02) questions only.

(2x9%2=19)
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Solve :

TA HIWTC ¢

(3 = 3xyHdx = (2 = 3x2y)dy.

Solve :

TA DT ¢

y + px = p>x*.

Solve by the parameter method :
e fafy g7 e @i
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d
—%} + a2y = sec ax.
dx

Solve :

T HIfST ¢

dzy dy 2
(x+2)?—(2x+5) E+2y—(x+l)e.

Solve :

TA DI ¢
d*x )
? +my=0
d>
#-m%c:o
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SECTION-B/( ©@US-@)
(Short Answer Type Questions)/( T I AT Y9 )

Note : Section 'B' contains Eight (08) short answer type
questions of Four (04) marks each. Learners are required
to answer any Four (04) questions only.  (4x4=16)
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1. Solve:
TA HIT :
(ax + hy + g)dx + (hx + by + Hdy = 0.
2. Solve:
T HIWT ¢
(D2 - 2D + 1)y = x%e7%.
3. Solve:
T HIWT ¢
d’y dy
2 2
X ?—xa—Z»y—x log x.
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TA HIT :
dx*  dy*
Solved :
T HIWT ¢
d’y d*y .dy .
$+cos xW—%mxa—ycosx:stx.
Solve :
T HIWT ¢
(22 = 2yz— yHp + (xy + 20)q = xy — zx.
Solve :
TA HIT :
dx B dy _dz
cos(x+y) sin(x+y) z°
Solve :
T HIWT ¢

D3-4D? +5D -2 =0.
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